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PART A: Vocabulary

Dfrecrfmm: Choose the word or phrase (1), (2), (3), or (4) that best completes fncf:

sentence. Then mark your answer sheet.

1- Before you ---=-eevev to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—-- s the Kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—----- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used --——--— when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would aet so upset about such a ---------- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s ---------- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—--——-
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- *It is my firm -———- ;' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if yvou look it up in a/an
—=—a—- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—---—- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed Killers. are pesticides used to kill unwanted plants,
Selective herbicides kill specific targets, (11) —===e-am- the desired crop relatively unharmed.
Some of these act by interfering with (12) === and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ~——--—-- all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) —=memmmmme as wildlife habitat.

Some plants produce natural herbicides. (15) ————- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best chaoice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE 1:

Electrostatic charges accumulate easily on ordinary textile materials. especially in dry
conditions (Holme et al., 1998: Kathirgamanathan et al.. 2000; Morton and Hearle. 1997).
Charges once accumulated are difficult to dissipate. The dissipation of an electrostatic-charge
oceurs through shocks and sparks which can be hazardous in a flammable atmosphere.
Therefore. the presence of a static charge in textiles can be a major hazard in explosives. paper.
printing. electronics, plastics, and the photographic industry (Bajaj et al.. 1992). Before the
advent of nonflammable anaesthetics and anti-static rubber components in operating theatre
equipment there was evidence of static electrically initiated explosions in hospitals (Scott
1981). The charge present in a garment can probably be over 60 kV depending on the balance
between the rate of generation and the rate of dissipation of the static charges and the body
potential (Holme et al.., 1998).

The clinging of garments is a common problem caused due to the presence of electrostatic
charges. Electrostatic atiraction may impede the opening of parachutes and even lead to
catastrophic failure under certain circumstances (Holme et al., 1998). Anti-electrostatic finishes
are used for textiles both in civilian and non-civilian applications. The basic principle of
making an antistatic garment is to decrease the electrical resistivity or the chance of
electrostatic accumulation in a fabric. Examples of the former are spinning yarns containing
conductive materials, producing a composite fiber in which at least one element is a conductive
material or a fiber containing a conductive material such as metallic or carbon coatings (Holme
et al.. 1998). Examples of the latter are the addition of a mixture of lubricants and surfactants to
the textiles. or antistatic finishing (Holme et al., 1998). It should. however. be noted that
electrostatics can be very useful for practical industrial applications. In the textile industry,
electrostatics are used as a means of spinning fibers and yvarns (Holme et al.. 1998; Morton and
Hearle, 1997).

16- What is the best title to cover the passage?

1) Electrostatic protection 2) Electrical protection
3) Electromagnetic protection 4) Thermal protection
17- The basic principle of making an antistatic garment is -====-=e=an- .

1) to decrease the electrical conductivity

2) to dissipate the electrostatic-charge through fabrics

3) to increase the electrical resistivity of the garment

4) to decrease the electrical resistivity or the chance of electrostatic accumulation

in a fabric
18- Before the advent of non-flammable anesthetic and anti-station rubber components
in operating theatre equipment there was evidence of --—--—-—- — initiated explosions

in hospitals.
1) catastrophic failure 2) electrical hazardous
3) static charges 4) static electrically
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19- The of garments is a common problem caused due to the presence of
electrostatic charges.
l) shocks 2) sparks 3) clinging 4) pilling

20-  The meaning of "catastrophic" is:
1) more 2) tremendous 3) high 4) great

PASSAGE 2:

Because of the ongoing speed of nanotechnology (NT) development, regulatory or other delays
caused by government will be costly to the industry and could be deadly to small firms with
little start-up capital. Government may try to avoid giving unfair advantage to anyone firm or
industry segment. but it will be impossible to maintain a "level playing field."Regulation
mevitably will benefit some firms at the expense of others. Larger firms will have an advantage
over smaller firms. Firms dependent on rapid introduction of aproduct will be disadvantaged in
relation tothose that are not so dependent.The rapid development of NT also means that
government managers always will be operating with outdated information. and that data about
NT effects will lag behind commercial applications. Priorities for research and for regulation
will need to shift constantly. We have moved into a world which is, as David Rejeski states,
"dominatedby rapid improvements in products, processes. and organizations, all moving at
rates that exceed the ability of our traditional governing institutions to adapt or shape
outcomes." He warns. "If you think that any existing regulatory framework can keep pace with
this rate of change, think again"(Rejeski 2004, p.45.). These consequences do not mean that
government should not deal with the adverse effects of NT. Such difficulties need to be
recognized and taken into account when designing and implementing an NTmanagement
system.

21- Ongoing speed of nanotechnology requires:
1) implementing of a nanotechnology management system.
2) government regulations on environmental aspects
3) a lag behind commercial applications
4) that difficulties need to be recognized
22- Nanotechnology development:
1) is not that fast that existing regcolatory frame work can not keep pace with this
rate of change.
2) is associated with rapid improvements in products.
3) will be costly to industry.
4) is product dependent.
23- "Data about nanotechnology effects will lag behind commercial applications"
indicates that:
I) commercial applications control the data on nanotechnology.
2) commercial applications will increase the growth of nanotechnology.
3) there is a time lag between data on nanotechnology effects and commercial
applications.
4) data about nanotechnology effects is not released that much to be used by
commercial sector.
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24- Government regulations will:
1) help nanotechnology developments without adverse effects on mankind and
environment.
2) affect certainly the growth of nanotechnology adversely.
3) be on the base of updated information.
4) control the smaller firms activities.
25- What is the best title for this text?
1) charactevistics of nantechnology.
2) managing the effects of nanotechnology.
3) advantages and disadvantages of nanotechnology.
4) Incentives for environmentally beneficaial technology.

PASSAGE 3:

Strategic management involves formulation and implementation of the major goals and
mitiatives taken by a company's top management on behall of owners, based on consideration
of resources and an assessment of the internal and external environments in which the
organization competes. Strategic management provides overall direction to the enterprise and
involves specifying the organization's objectives. developing policies and plans designed to
achieve these objectives. and then allocating resources to implement the plans. Academics and
practicing managers have developed numerous models and frameworks 1o assist in strategic
decision making in the context of complex environments and competitive dynamics. Strategic
management is not static in nature; the models often include a feedback loop to monitor
execution and inform the next round of planning. Harvard Professor Michael Porter identities
three principles underlying strategy: creating a "unique and valuable [market] position”,
making trade-offs by choosing "what not to do", and creating "fit" by aligning company
activities to with one another to support the chosen strategy. Dr. Vladimir Kvint defines
strategy as "a system of finding. formulating. and developing a doctrine that will ensure long-
term success if followed faithfully."Corporate strategy involves answering a key question from
a portfolio perspective: "What business should we be in?" Business strategy involves
answering the guestion: "How shall we compete in this business?" In management theory and
practice. a further distinction is often made between strategic management and operational
management. Operational management is concerned primarily with improving efficiency and
controlling costs within the boundaries set by the organization's strategy.

26- This text highlights:
I ) the difference between strategic management and operational management,
2) the importance of unique and valuable market position.
3) the importance of strategic management.
4) principles of strategic management.
27- Strategic management:
1) is static in nature.
2) involves implementation of general goals.
3) determines the overall direction to the enterprise.
4) field has a few models and frameworks developed by academics and practicing
Mmanagers.
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28-

30-

Aligning of company activities is achieved by:

1) following of chosen strategy.

2) feed back loop of dynamic strategic management,

3) making trade-otfs by choosing "what not to do".

4) creation of a unique and valuable market position.

Strategic management involves:

1) developing of numerous models and frame works to assist in strategic decision
making.

2) identifying internal and external environments in which the organization
competes.

3) how shall we compete in this business?

4) specifying the organizations objectives.

Operational management is concerned with:

1) context of complex environments manipulating.

2) improving efficiency and controlling of costs.

3) the three principles of strategic management.

4) a system of finding, formulating and developing a doctrine.
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